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7 ] vy vav VAN I ik H UP fi H (]
1| 9:50 |7~C#>=755B —k (HER) 6 1 6 WT 3
2| 9:53 |[F~Bi#k =758 — KT 23 2 12 WT 6
3] 9:59 [F~B#k =765B — KT 36 3 24 WE 9
4| 10:08 [7~D#B —k (HER) 6 1 6 WT 3
5| 10:11 [ DN#L — (HER) 4 1 4 CR 3
6| 10:14 [7~B#% =765B TR 24 2 12 WE 6
7] 10:20 [FECHL — ) (HER) 8 1 6 CSR 5
8| 10:25 [7F~E#B —k (HER) 2 1 2 WT 3
9| 10:28 |7~ Bi#k =755B YETR 5 12 1 6 WT 3
10| 10:31 |7~ B#k =765B YR 5 12 1 6 WF 3
11| 10:34 |7~ E#%B N 2 1 JEAT WT 3
12| 10:37 |7 DN#L N 4 1 JEAT CR 3
13| 10:40 [7~D#%B s 6 1 NEAZ WT 3
14| 10:43 |7~ C#> =755B N 6 1 JEAT WTF 5
15| 10:48 |7~ B#ki =755B R 6 1 JIEAL WTF 5
16| 10:53 |7~ Bk =765B N 6 1 JEAT WTF 5
17| 10:58 [FuCHkL s 6 1 NEAZ CSR 5
18| 11:03 |[FoBd®EFHL — R T 8 1 8 CSRP 7
19| 11:10 |7~ E#L — (HER) 3 1 3 CR 3
20 11:13 |7~D#L — (HER) 5 1 5 CR 3

11:16 £ B KX -AF—F L R(FCRL - 7Bk =T 558 « 7~Bfk =765B)
21| 11:45 |7 B#&L —W (HETR) 6 1 6 CSRP 7
22 11:52 |7~ CH#L — (HER) 11 1 6 CSR 5
23| 11:57 |7~ B#L —W (HETR) 14 1 8 CSRP 7
24| 12:04 |7 ~BIHRTFHEL —IR (HER) 9 1 6 CSRPJ 9
25 12:13 |7 = BIHGRTAHEL HEP 9 1 6 CSRPJ 9
26 12:22 |7~ E#L PR 2 1 JEAT CR 3
27| 12:25 [7~D#L ek 4 1 NEAZ CR 3
28| 12:28 |7~ C#L ek 6 1 NEAL CSR 5
29| 12:33 [ B#L ek 6 1 JIEAZ | CSRP 7
30 12:40 |7~ B#kL ek 8 1 JIEAZ | CSRP 7
31| 12:47 |7~ BIBUETHEL e 6 1 JIEAZ | CSRPJ 9
32| 12:56 |7 BIHGETHEL Y5 6 1 JIEAZ | CSRPJ 9
33 13:05 |7 ~A4—F>C — KT 8 1 8 C 2
34| 13:07 |7~A—F>S — KT 9 1 9 S 2




35| 13:09 |7~A—7R — KTk 8 1 8 R 2
36 13:11 [ DN#B — W (HER) 3 1 3 WT 3
37| 13:14 |[7E Bk =7 A% —B —k (HER) 9 1 6 WF 3
13:17 X B RN - ATFT—FUX(FuBERITVBEFE - TERS 7V EFHE)
38 14:00 |7~A—7F>C HELR 8 1 6 C 2
39 14:02 [7~A—7>S YEIR 5 9 1 6 S 2
40| 14:04 |7~A—7R HELR 8 1 6 R 2
41| 14:06 |7 DN#%B N7 3 1 JIEAL WT 3
42 14:09 |7uB#ky =7 A% —B N7 9 1 JIEAL WTF 5
F<f ] vy va v VAN I ik H UP fii H i
43| 14:14 |7~=A—F>C N7 6 1 [[1=tiva C 2
44| 14:16 |7~A—7>'S N 6 1 [[1=tiva S 2
45| 14:18 |7~A—7VR N 6 1 [[1=tiva R 2
14:20 TLATEA N
46| 14:25 |72 C#%B — (ER) 10 1 6 WTF 5
47| 14:30 |7~ B#%B —K T 21 2 12 WT 6
48| 14:36 |7~ AT =T65B —K T 31 3 24 WT 9
49| 14:45 |7T=A—F W —K T 12 1 12 W 2
50 14:47 |7~A—7>T —K T 12 1 12 T 2
51| 14:49 |7~A4—7>F —K T 11 1 11 F 2
52 14:51 |7~ C#%B —K T 16 2 12 WT 6
53| 14:57 |7~ A#k =765B /i 24 2 12 WT 6
54 15:03 |7T~A—7>W HER S 12 1 6 W 2
55| 15:05 |7~A—7>T HER S 12 1 6 T 2
56| 15:07 |7~A4—7>F HER S 11 1 6 F 2
57 15:09 |7~ C#%B HELR 12 1 6 WTF 5
58 15:14 |7~ B#%B HELR 12 1 6 WTFQ 9
59 15:23 |7~ Ak =765B YEIR P 12 1 6 WTFQ 9
60| 15:32 |7~A—F W N 6 1 [[[=tiva W 2
61| 15:34 |7~A—7>T N 6 1 [[[=tiva T 2
62| 15:36 |7~A—F>F N 6 1 [[1=tiva F 2
63| 15:38 |7~ C#%B Peps 6 1 JEAL WTF 5
64| 15:43 |7 CHB ek 6 1 JEAL WTF 5
65| 15:48 |7~ B#%B N7 6 1 JIEAZ | WIVWFQ | 10
66| 15:58 |7~ Ak =T65B N 6 1 JIBAZ | WTFQ 9




67| 16:07 |7~ AT =755B — KT 25 2 18 WF 6
68| 16:13 |72 B#%B —% (HER) 8 1 6 WTFQ 9
16:22 £ & R -AFT—FLR(FuBk¥ =78+ 7~<vAH%I=7T65B - 7 ~<Bi%B)
69| 16:40 |7~ A#T =755B TR T 18 2 12 WF 6
70| 16:46 |FmEHEI =7 B — KT 9 1 9 WTF 5
71| 16:51 |7 ~EBRFHEB —K Tk 16 2 12 WTF 10
72| 17:01 |7 0 BEBORFHEB —K Tk 10 1 10 WTFQ 9
73| 17:10 |7~ A# =755B HEVR I 12 1 6 WTFQ 9
74| 17:19 [FuBEEI =7 B YEIR 5 9 1 6 WTVWFQ 10
75| 17:29 |7~ EBORFHEB HEVR I 12 1 6 WTFQ 9
76| 17:38 |7 m EHORFHEB HEVR I 10 1 6 WIVwFQ | 10
77| 17:48 |72 B#%B NI 6 1 JIRR7 | WTVwFQ 10
78| 17:58 |7 ~A#HkI =755B R 6 1 JIEAE WTFQ 9
79 18:07 |mEHET =T B s 6 1 JIEAZ | WIVWFQ | 10
80| 18:17 |7 ~PBIBEFHB TR 6 1 JIBR7 | WTVWFQ 10
81| 18:27 |7 mPARGETHEB N7 6 1 JIEAZ | WIVWFQ | 10
18:37 £ B KX -AF—F(FuBfB: 7~<ARkI =758 Fu=7B 7~<EHKB - 7 BHKB)
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